EE 201 — HW74 Name

a.

Find values of R and C such that a series R-C combination would have an impedance of
Z = 4kQ —j3kQ. The frequency is w = 105 rad/s.

. Find values of R and C such that a parallel R-C combination would have an impedance of

Z = 4kQ —j3kQ. The frequency is w = 105 rad/s.

Find values of R and L such that a series R-L combination would have an impedance of
Z =4kQ +j3kQ. The frequency is w = 105 rad/s.

Find values of R and L such that a parallel R-L combination would have an impedance of
Z =4kQ +j3kQ. The frequency is w = 105 rad/s.

Write your answers — and whatever work will fit — on this sheet. Staple any sheets with additional work behind.



